xample!:
ind the missing digit in the expressions below.
7 X =63

| etls use the skip count metho

So, let’s skip count by sevens until we reach 6

7,14, 21,28, 35, 42, 49, 56, 6

Now, let’s count the number|of times we skip-count before reachi

You see that, we have skip-counted 9 times

So, [the|missing digit is 9

Therefore, 7 x 9 =163

Find the missing digit in the expressions below ( tick the correct answer )
6 x =42 10 x =10 x 5 =45
O O 0 6 Os O 10 0 O ] 7
8 X =32 x 71=70 x 4 =20
Os O3z 04 Os O9 O10 Os Os O
9 x = 8] x 10 =20 x 7 =21
0 ] 5 O> 0O 0 3 0 O0s 0O

X =20 X 8 = X 8 =40

3 o o) 08 2 z [O>5 8
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